Stock Chopper Parts List Page 1

Parts List
Stock Chopper
Model and Application
111]2)12(2]3|14(4|5|5[7]|8(9
3(9(4/4|5[5/4|5(4|5/0{0/0
Part Wt. |3]9[1|/0({0{0|0[{0]0]|0[O0j0f0
No. Description in (0[{0({0[{0{0[0|0|0|0|0fO0[O0] 0| List
Ibs Price
10620 Bearing - 1-1/2F 4.5 X[ X X[ X X 65.00
10606 Bearing - 1-15/16F See part #10125 NA
10125 Bearing 1 15/16D X] 198.00
10634 Bearing - 1-15/16 (FD 211 RJA) X[ X] X X[ X 90.00
10584 Bearing - Inner 611 X| X X] X 16.36
10587 Bearing - Inner cup 611 X| X X X 12.82
10613 Bearing - Outer 611 X| X X] X 11.07
10614 Bearing - Outer cup 611 X| X X] X 8.57
10616 Seal - 611 X[ X X| X[ X 7.00
10282 Blade 39" Fits 3' Rotor (for front tool bar) X| X 60.55
12120 Blade 39" Fits 3' Rotor (for back tool bar) X 60.55
10283 Blade 57.5" Fits 5' Rotor (for front tool bar) 17.5 X[ X 75.59
12121 Blade 57.5" Fits 5' Rotor (for back tool bar) 17.5 X 75.59
10284 Blade 70" Fits 6' Rotor (for front tool bar) 20.5 X| X 92.54
12122 Blade 70" Fits 6' Rotor (for back tool bar) X 92.54
10285 Blade 90.5" Fits 7 1/2' Rotor (for front tool 25.5 X| X| 120.21
12123 Blade 90.5" Fits 7 1/2' Rotor (for back tool 25.5 X| 120.21
10594 Blade 30" 9 32.55
12053 Blade - 72" 21 84.64
10592 Blade - 36" 11 X 39.18
10596 Blade - 66-1/2" 20 X 78.47
10598 Blade - 49-3/4" 14.5 X[ X 58.35
10599 Blade - 142-3/4" 42 155.64
10600 Blade - 158" 46 X[ X] X 161.23

Effective Date: 06/23/23 ***Prices subject to change without notice.




Stock Chopper Parts List Page 2

1]11]2)12(2]3|14({4|5|5[7]|8(9

3(9(4/4|5[5/4|/5(4|5/0{0/0

Part Wt. |3(9[1|/0({0{0|0[{0]0]|0[O0j0f0

No. Description in (0[{0({0[{0{0[0|/0|0|0|0fO0[0]0| List

Ibs Price
10602 Blade - 65" 19 X[ X 82.85
10603 Blade - 20-3/4" 6 X[ X| X X[ X] X 25.25
Blade - 15" 25.25
10377 Blade 10" 25.25
11274 Blade 20 3/4" (fits Buffalo) 6 30.75
10604 Blade - 26-3/4" 8 X 34.29
90136 Bolt - 2x 1-1/2 NC X[ X] X X X[ X[ X] X]| X 1.04
90144 Bolt - 3/4x 7" NC X[ X 8.12
90145 Bolt - 3/4x 9" NC X| X 10.50
10617 Dust cap 611 X| X X 9.79
11467 Harrow - 3-bar spike/w Brackets (per foot) X| X 224.00
11469 Harrows only - 3 Bar Spike (per foot) X| X 141.84
90901 Harrow Bracket only for 3 Bar Spike 345.00
90928 Harrow 3 bar link assembly - complete 125.00
11468 Harrow 5-bar spike/w Brackets (per foot) foot X| X X X| X[ X]| X X]  290.00
90902 Harrow Brackets only for a 5 Bar Spike 377.00
90929 Harrow 5 bar link assembly - complete 195.00
10672 Harrows only - 5 Bar Spike (per foot)M X X| X[ X X[ X| X] X[ X| X|] 200.00
10633 Harrows - Chain Link 32 X| X| X[ X X| X[ X] X]| X[ X|] 188.00
10636 Harrows - Chain Link w/connecting angle iron X X| X[ X X| X[ X] X[ X[ X| 246.00
11287 Harrows - Angle Iron only for Chain Link X X[ X X X[ X| X] X[ X]| X 57.00
10108 Hinge Pin 1-15/16x9 1/8 X 92.31
10548 Hinge Pin 1 -15/16 x 9 5/8 X X Xl 9575
10635 Cast Implement Pull - For Tongue & Trans. 285.00
10635U Cast Imp. Pull Upgrade from 10607 160.00
10607 Hitch - Implement pull - welded X | X[ X 196.00
90113 Hitch pin- Cat 2 & 3 X[ X X| X[ X X 50.00
90114 Hitch pin - Cat. 3 X 46.60

Effective Date: 06/23/23

***Prices subject to change without notice.




Stock Chopper Parts List Page 3

1]11]2)12(2]3|14({4|5|5[7]|8(9

3(9(4/4|5[5/4|/5(4|5/0{0/0

Part Wt. |3(9[1|/0({0{0|0[{0]0]|0[O0j0f0

No. Description in (0[{0({0[{0{0[0|/0|0|0|0fO0[0]0| List
Ibs Price

10610 Hub complete - 6 bolt - 611 X| X 180.00
10611 Hub only - 6 bolt - 611 X X 110.00
10612 Hyd. Cylinder - 3-1/2 x 16 X| X 340.00
10615 Hyd. Cylinder - 5 x 16 X[ X 975.00
21633 Seal kit for 5x16 75.00
10627 Hyd. Cylinder - 4 x 16 53 460.85
10637 Seal kit: Hyd. Cylinder 4 x 16 70.00
10628 Hyd. Cylinder 4 x 10 X | X[ X 350.00
10179 Jack Stand 235.00
10621 Lock Collar 1 X[ X X[ X X 22.00
10646 Lug bolt- 611 X[ X 1.17
90138 Nut 1/2" NC X [ X X X| X[ X] X| X[ X] X]| X 0.20
90146 Nut - 1" castle NC X[ X] X X[ X 3.02
90147 Nut - 1-1/4" NC X[ X] X 1.87
90148 Nut 1" NC X | X X| X| X| X] X]| X] X| X X X X 2.07
10622 Rock shaft bearing cap X | X[ X 27.30
10126 Rotor Only - 3' (for front tool bar) X] X[ 558.00
12124 Rotor Only - 3' (for back tool bar) X] 558.00
10127 Rotor Only - 5' (for front tool bar) X] X[ 710.00
12125 Rotor Only - 5' (for back tool bar) X] 710.00
10128 Rotor Only - 6' (for front tool bar) X] X[ 898.00
12126 Rotor Only - 6' (for back tool bar) X] 898.00
10129 Rotor Only - 7 1/2' (for front tool bar) X| X] 1132.00
12127 Rotor Only - 7 1/2' (for back tool bar) X] 1132.00
10967 Rotor Stub Shaft X X 120.00
10138 Rotor Complete - 3' (for front tool bar) X[ X] 995.00
12128 Rotor Complete - 3' (for back tool bar) X]  995.00

Effective Date: 06/23/23

***Prices subject to change without notice.




Stock Chopper Parts List Page 4

1]11]2)12(2]3|14({4|5|5[7]|8(9

3(9(4/4|5[5/4|/5(4|5/0{0/0

Part Wt. |3(9[1|/0({0{0|0[{0]0]|0[O0j0f0

No. Description in (0[{0({0[{0{0[0|/0|0|0|0fO0[0]0| List

Ibs Price
10139 Rotor Complete - 5' (for front tool bar) X] X[ 1150.00
12129 Rotor Complete - 5' (for back tool bar) X] 1150.00
10140 Rotor Complete - 6' (for front tool bar) X] X[ 1375.00
12130 Rotor Complete - 6' (for back tool bar) X| 1375.00
10142 Rotor Complete - 7 1/2' (for front tool bar) X] X[ 1740.00
12131 Rotor Complete - 7 1/2' (for back tool bar) X| 1740.00
10638 Rotor Only - 5 blade X[ X| X X[ X| X 258.00
10639 Rotor Only - 6 blade X[ X| X X[ X X 276.00
10642 Rotor Only- 7 blade X[ X[ X X[ X X 294.00
10303 Rotor with Blades - 5 blade X[ X| X X[ X[ X 390.00
10304 Rotor with Blades - 6 blade X| X[ X X X| X 417.00
10305 Rotor with Blades- 7 blade X[ X] X X X| X 444.00
10616 Seal - 611 X[ X X[ X 7.00
10131 Spacer Bar 47 X X[ X 166.00
10618 Spindle - single end w/nut, washer, pin 611 X| X 80.00
10619 Spindle - double end w/nut, washer, pin 611 X| X 130.00
10640 Standard/Tadpol - single 71 X| X[ X X 319.00
10641 Standard - double 633.00
90109 Top link bushing - Cat. 2 & 3 X| X[ X X| X X| X 7.50
90139 U-bolt -3/4 x 7-1/8 x 9 NC (for spacer bar) 13.00
90140 U-bolt - 3/4 x 7-5/16 x 9 NC (for tadpole) 13.00
90141 U-bolt - /2 x 3-1/8 x4 NC X| X 7.50
90142 U-bolt - 3/8 x 1-5/8 x 2-1/2 NC X [ X X[ X| X| X| X[ X[ X| X]| X[ X[ X 5.00
90143 U-bolt - 5/8 x 7-1/8 x 8-1/4 NC X| X 11.50
90134 Washer 2 Lock X | X X| X| X| X] X]| X] X| X X X X 0.24
10909 Row Unit Complete - 5 Blade 240 X| X[ X X| X[ X| X] X 1095.00
10968 Row Unit Complete - 6 Blade X| X[ X X| X[ X| X] X 1185.00
10969 Row Unit Complete - 7 Blade X| X[ X X| X[ X| X] X 1305.00

Effective Date: 06/23/23

***Prices subject to change without notice.




Stock Chopper Parts List Page 5

1)1(2]2(2)13[4(4|5(5/7]|8(9
3(9(4/4|5[5/4|/5(4|5/0{0/0
Part Wt. |3(9[1|/0({0{0|0[{0]0]|0[O0j0f0
No. Description in 0/0/{0[/0/0|/0/0(0({0O(0[0]0|0f List
Ibs Price
10969C Conversion Kit: Root Slicer to Chop N Slicer 1500.00
10641C Standard/Double Complete - 5 & 6 Bladed X[ X 2135.00
11238 Paint - Besler Green Spray Can Call
11239 Paint - Besler Green - One Gallon Call

Effective Date: 06/23/23

***Prices subject to change without notice.




